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	SERVICES AT CULHAM 
	Join us for coffee and a chat after Sunday morning services at Culham Church! 
	All welcome. 
	OTHER SERVICES 
	Café Style Worship
	Evening Prayer
	Culham Plant Sale & Church Fete					                 Brian Bracher
	This will take place on Saturday 16th May from 1.30 pm to 4.00 pm outside the church (stalls inside if wet!)  As well as plants we shall be selling home-made cakes, bric-a-brac, books / videos / DVDs, etc.  You will also be able to try your luck on the tombola and raffle as well as other stalls, such as welly-wanging!
	Monday 4th May- Dorchester Abbey May Morning

